
A man made a bequest for another for a third of his clothing. Two-third got destroyed. The remaining third equals a third of the estate. What is the beneficiary entitled to?

Question 2380) - A man made a bequest for another for a third of his clothing. Two-third got
destroyed. The remaining third equals a third of the estate. What is the beneficiary entitled to?

A: A third of the remaining clothing.*

* If they are of different kinds. If they are all the same then the ruling is the same as in Dirhams.
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